General Solutions of

sin@

X>0 X <0

sin™ x| /8in"* x
>

~Trig Equations

sin™(—x)

sin‘l(—)x)

O=sin*xorz—sintx  @=rx+sin"(-x)or 2z —sin™ (- x)
0 =rx—sin" xor 2z +sin~ X

sin@ = X

6 =7k +(-1)sin"x  where k is an integer




cosd = X

x>0 x<0
A A
Cos " X, cos (= x) R
COS ™ X cos (- x)

0 =cos*xor2r—costx  @=m—cos (—x)orz+cos(—X)
0 = — (7 —cos™ x)or 7 +(z —cos™ x)

— COS* X or 277 —Cos X

COSH = X
0=2zk+costx  wherekisan integer




tand = x

X>0 X <0

1
- tan ~ X tan (= x) R
tan X tan™(—x)

O=tan*xorz+tanx  O@=x—tan"(-x)or 2z —tan"(-x)

O=r+tan xor 2z +tant x

tan @ = x
0 = 7K +tan " X where k is an integer




e.g.(i)sing =

ks

0 =K +

/N

~1)" sin{\fj

where K is an integer

9=7Zk+(—1)k%

. 1
(II)COSQZ—ﬁ

1
O=27k+cos? ——
( sz

where K iIs an integer

0= 27k + %
A

If0<0<2rx




1 SN . o
Il )tanéd = — IV)sSin@ =sin—
eno=Cg (v 7 5
6?=7zk+tan1(j 0 = 7k + (1) sin*sin >~
V3 (=) 7
where Kk iIs an integer 0 = 7k + (_1)k 2r
6?:7zk+% where K is an integer
(V)cos 2x = cos
If0<0<2rx 9 -
- - 2X = 27K +c0s ™ cos
0=—,7+— 9
6 6 ox = 27k + -
T (7 9
0="—",— T
6 6 X =7k + —
18

where K iIs an integer



Exercise 1F; 4 to 8 ace etc

9to 11
12ac




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6

